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Chapter 23 Homework Answers

77.5° below — x axis

0.299 m

0951 m

Explain!

n md?
2\k_q0 |
of28

2.07x10° N/C

downward

1.82 mto the left of the — 2.50 ;C charge |

1.80 x 10* N/C to the right

R.OR x10™> N to the left

25a)

25b)

31a)

31b)
31¢)

31d)

35)

43)

50)

67)

5.91 kqu at 58.8° above the horizontal
a

5_91’%_3“ at 58.8° above the horizontal
a

6.64i MN/C

24.1i MN/C

6.40i MN/C

0.664i MN/C

2.16 x10" N/C

438 x 10° m/s for the electron

2.30 x 10° m/s for the proton.

49.3 N/m

1.67x107°C




